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2.1. Subject Test Math 1 Question 2 of 32 [TDULNT
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Question 2 of 32

A band wants to distribute its music on compact discs (CDs). The equipment to produce the CDs costs

§$ 250, and blank CDs cost $ 5.90 for a package of 10. Which of the following represents the total

cost, in dollars, to produce n CDs, where n is a multiple of 10?
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Question 7 of 32
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The figure above shows a square region divided into four rectangular regions, three of which have areas
5x, 5x,and x?, respectively. If the area of MNOP is 64, what is the area of square QROS?
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Question 11 of 28
A sequence is recursively defined by a,, = a,,_1 + 2a,,_,, for n > 2. If a; =0 and a, = 1, what iy
the value of ag ?
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Question 14 of 28
A line has parametric equations equals x =5+t and y = 7 + t, where t is the parameter. The slope
of the line is
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